
Answer to Hhe 9uestion No (1) 

O Division method 

2 1240 
2 620 

2 310 

5155 
31 

O Mutiplueodion method: 

1240 2%620 = 2x 2x310 = 2x2 X2x2X 55 

2*2*2xX 5x 31 

25.31 

Tree diogrom 
1240 

Theretone he prume factoniz- 

of 1240 is-25.31 2 20 

2 310 

55 

31 



Answen to he 9ue stion NO (2): 

Fnom the question numben 1 we ot, 

The prume factoruzati on of 1240 is 25. 91 

The toBal numberr of faetors of 1240 (s 

3 +1) (+) (1+1) 
4 x2x2 

16 

Calculation ot all faetorts 

1240 Ix 1240 

2X620 

= 4x310 

8 X 15 5 

5 x 248 

0 X 124 

= 20 x 62 

40 x31 

AL toetons of 1240 ane 1,2,4,8, 5, 10, 20, 40, 31, 62, 

124, 243, IS5,310,620, 1240 



Answer to the question No (); 

From the question number 2 we qot. 

A fetons ot 1240 ane- 1.2,4,5,8,10,20, 31 
40, 62, 124, 155 , 248, 310, 620, 

1240 

50, Al e Prime tactorns ot 1240 ane: 2, 5,31 

-2.22. S.31 

Ansuwer to he quesh on No (4): 

The Composite taetor of 1240 ane 

1,4 ,10,20, 40, 62, 124, 243, 155,310, 620,1210 
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